Whitman College

Econ 107

Final Exam 

May 12, 2006

Write all answers in your blue book.  Show all of your work.  The exam ends at 11:30.

1.  (35pts)  Use economic theory to describe the effects of rent control.  In your explanation, refer to a supply and demand diagram for apartments.

2.  (35pts)  Describe the effects of having a monopolized industry.  In your explanation, refer to a diagram showing the amount the profit-maximizing monopolist produces, the price it charges, and the amount of profit it earns.

3.  (30pts)  Explain why a perfectly competitive industry does not produce the socially optimal quantity of a good, if that good’s production generates a positive externality.  In your explanation, refer to a supply and demand diagram for the industry producing the good.

4.   Consider a hypothetical economy.  Last year, the price of heating oil was $1 per gallon, and the price of electricity was $0.10 per kilowatt-hour (kWh).  This year, the price of heating oil has increased to $2 per gallon but the price of electricity is still $0.10 per kWh.  Suppose that a statistical agency defines a home-heating basket that consists of 1000 kWh of electricity and 100 gallon of oil.  The agency uses this basket to calculate a Consumer Price Index (CPI). 

(a)  (5pts) What would the CPI be for this year and for last year, if last year is the base year?. 

(b)  (5pts)  Use the CPI to calculate the inflation rate between last year and this year.  

Fred is the kind of guy who likes to have a backup. He heats his house with an oil-fired furnace and with electrical baseboard heaters. In his house, 1 gallon of oil produces the same amount of heat as 10 kilowatt-hours (kWh) of electricity. (These numbers are chosen to be easy to work with, not necessarily to be realistic.)  To heat his house last year, Fred purchased 2,000 gallons of heating oil and 20,000 kWh of electricity.  Assume that electricity and heating oil are the only goods that Fred buys.  Last year, he spent his entire nominal income of $4,000 on these two goods. This year, his nominal income is still $4,000. 

(c)  (2pts)  Did Fred’s real income change between last year and this year?  If so, in what direction did it change?  

Suppose that this year, instead of buying both oil and electricity, Fred uses only electricity to heat his house. That is, he substitutes electricity for oil.  Suppose that we judge Fred's standard of living by how warm his house is. 

(d)  (2pts) If Fred spends all of his $4,000 in income on electricity this year, which of the following statements would be true?  Show your work.

Fred’s house will be:

A.  As warm as it was last year, so his standard of living stays the same.

B.  Less warm than it was last year, so his standard of living falls.

C.  Warmer than it was last year, so his standard of living increases.

(e)  (1pt)  True or False: Fred demonstrates that even if someone's real income falls, his standard of living can remain the same.  (You do not need to explain your answer.)

Suppose that the following year, the price of heating oil will be $2 per gallon but the price of electricity will rise to $0.20 per kWh.  Fred's nominal income will remain $4000. 

(f)  (5pts)  True or False:  Fred's real income will fall between this year and the following year, but his standard of living will remain the same.  Explain your answer.  

(g)  (5pts)  Suppose Fred is your typical consumer in this economy, and you are an intern working for the statistical agency that produces the CPI for this country.  Your boss has heard the term “substitution bias” mentioned with respect to his CPI.  However, he doesn’t understand what the term means.  He has asked you to define the term, and to explain whether there is a substitution bias in this CPI.  Write a memo to your boss providing the information he has requested.
 

5.  (5pts)  Which of the following statements are true? 

(a) Business cycles follow a regular and predictable pattern. 

(b) Real GDP, personal income, and investment spending tend to fluctuate together over the course of the business cycle. 

(c) Unemployment exists in the short run, but not in the long run.

(d) In the Keynesian sticky-wage model, the natural rate of unemployment affects the long-run aggregate supply of goods and services.

(e)  In the Keynesian sticky-wage model, the inflation rate affects the long-run aggregate supply of goods and services.

6.  When the Federal Open Market Committee (FOMC) met on May 10, it decided to raise its target for the federal funds rate (FFR) from 4.75% to 5.0%.  This decision was the FOMC’s sixteenth consecutive 0.25% increase in the FFR target.  

(a)  (20pts)  Consider the current state of the macroeconomy.  Use the Keynesian sticky-wage model to explain the Fed’s latest decision to raise the FFR.  Refer to an aggregate demand- aggregate supply diagram in your answer.  

(b)  (10pts)  When the FOMC decided to raise the FFR, what exactly did the Federal Reserve do to make the FFR increase?  What effect will these actions have on the money supply?

7.  (15pts)  Consider an economy that is initially in long-run macroeconomic equilibrium.  Suppose that the price of oil, a major input into production, were to rise abruptly by a large amount.  Using the Keynesian sticky-wage model, describe the short run and long run effects on real output and the price level, assuming that policy-makers do not intervene in the economy.  

8.  (15pts)  Consider the Flexible Prices (Goo) experiment from class.  How did the size of the money supply affect output in the experiment?  Why did the money supply have this effect?

9.  Consider the  article “Population Shift: Smaller Families in Mexico May Stir U.S Job Market” (Wall St. Journal, April 28, 2006) by June Kronholz and John Lyons, which we discussed in class on May 8.  

(a)  (5pts)   According to the authors, how does the number of children born per Mexican family in the 1970’s and 1980’s explain why 459,000 Mexicans came to the United States in the past year looking for low-skilled work?  

(b)  (5pts)  What critical challenges do the authors believe Mexico faces in the next 20 years, and how do the authors believe the United States will be affected by the decisions Mexico makes as it faces these challenges?
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